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A in a table represents a

relationship among a set of values.

(A) Column

(B) Key

(C) Row

(D) Entry

The term is used to refer to

a row.

(A) Attribute

(B) Tuple

(C) Field

(D) Instance

A Database Management System

isatypeof  Software.

(A) It 1is atype of system software

(B) It is a kind of application
software

(C) It 1s a kind of general
software

(D) Both (A) and (C)

Which one of the following refers

to the “data about data”?

(A) Directory

(B) Sub Data

(C) Warehouse

(D) Meta Data

l.

Ug dlfeldl H Yol & U6 T & a9
<y T g aee 2 |

(D) T

39 W& $1 YAN UG Ufdd B HaRid
P B fory fovar o B

(A) fommaar

(B) U

(€) s

(D) ST

ScY Hve RieH U6 UOR

B ¥R B

(A) TE & YHR &1 RReH AffedR
g

(B) B TP TRE Bl TRAHIM ATCdR
g

(C) TB Udh TRE &1 AT AR 2

(D) (A) 3R (C) aH

ffoRad % & @9 'SeT & IR # eI

P Feffd Fear g ?

(A) TR

(B) U ST

(C) Mem

(D) ¥eI STl
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5. To which of the following the term 5. AT T FEfoRed ¥ 9 fhad

“DBA” referred? HaferT g ?
(A) Data Bank Administrator (A) SIel % yIIR
(B) Database Administrator (B) ScN TNI®
(C) Data Administrator (C) T WoING
(D) None of the above (D) T ¥ PI3 1 el
6. The tuples of the relations can be 6. eel @ U oH @ T 9hd ¢ |
of order. (A) s
(A) Any (B) @
(B) Same
(C) Sorted ©) #HeE
(D) Constant (D) TR
7. Which one of the following is a set 7. fAefolRad § ¥ @9 @ TUdh Rate &
of one or more attributes taken fafdre ygam & fou w:i%—cﬁ Wy ¥ foru
collectively to uniquely identify a TV TS IT A I & ta e
record? 27
(A) Candidate key (A) Candidate key
(B) Sub key (B) Sub key
(C) Super key (C) Super key
(D) Foreign key (D) Foreign key
8. Rows of a relation are known as 8. s Red @of dfdaai @ 7 & W
the . LECIEINCIGINS
(A) Degree A) f&h
(B) Tuples (B) TU
(C) Entity (C) BT

(D) All of the above (D) R & i
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9. Which one of the following is a 9. fA=folRad & ¥ @F Th JhR Dl sl
type of Data  Manipulation ﬁﬁﬂﬁ"ﬂ‘rf FHiE
Command?
(A) Create (A) Create
(B) Alter (B) Alter
(C) Delete (C) Delete
(D) All of the above (D) Wi
10.  In the relational table, which of the ~ 10. HegR&% dlferdr H FHfRad 5 ¥
following can also be represented fe faemar o gRT ff S@Rm o
by the term “attribute”? HhaT 87
(A) Entity (A) DU
(B) Row (B) Ufdd
(C) Column (C) Pl
(D) Both (B) & (C) (D) (B)3R (C) &M
11.  Which one of the following 11. fy=foRed ¥ & &9 @ue & WM
command is used to delete the foefy anferar ¥ H\Iuj\dl ufdd B geM &
existing row in a table? foru foar ram 22
(A) Delete (A) fierr
(B) Update (B) e
(C) Insert (C) ST
(D) None of the above (D) T A P A T
12.  Create table employee (name 12.  table employee ERIlY (name varchar,
varchar, id integer) what type of id integer) T8 {9 YHR BT B 7
statement is this? (A) DML
(A) DML
) DDL (B) DDL
(C) View © View
(D) Integrity constraint (D) SESar are
Series-A B.Sc. - B120201T / K-260 Page - 5



13.  Which of the following commands 13.  See™ ¥ il 0 oFfes @ Rl vy
is used to save any transaction q Geod & forv f= & 9 fog auie
permanently into the database? BT SUINT fhar oI 27?

(A) Commit (A) Commit

(B) Rollback (B) NREEY

(C) Save-point (C) Tdise ol

(D) None of the above (D) = A o N TE

14.  In SQL the spaces at the end of the ~ 14. THagUal H RT & ofd H Raaq M
string are removed by function: B gNT gl feU o &
(A) Upper (A) ST
(B) String (B) Rgw
(C) Trim () feu
(D) Lower (D) fren

15.  The term “SQL” stands for: 15. 3 "THo 9o Tefo" &l 3 &
(A) Standard query language (A) AF® FIST T
(B) Sequential query language (B) Hﬂ?ﬁﬁfﬁ R0 ST
(C) Structured query language © e e
(D) Server-side query language D) RS 3

16. The number of attributes in  16. & H U S G B HEl O &
relation is called as its: (A) FIfSHferd
(A) Cardinality (B) fH
(B) Degree ©) T
(C) Tuples
(D) Entity ©)

Series-A B.Sc. —B120201T / K-260 Page - 6



17.  Which one of the following refers 17. f=fafed & 9 o9 seow Ol @
to the total view of the database ol 5 BT Teffg oear 2?
content?
(A) Conceptual view () i W
(B) Physical view (B) i EAR
(C) Internal view (C) 3maR® s
(D) External view (D) 9= g%y
18.  The architecture of a database can 18. ST @ anfdedaR &l 7? g
be viewed as the H T S AT B |
(A) One level (A) Td XX
(B) Two level (B) a 'R
(C) Three level (C) T ®R
(D) Four level (D) IR ¥R
19. DML is provided for: 19. SUHTd ® BN HERERIRSIS &
A) Description of the logical :
“ structulz‘e of a database : (A) ST I TP T P faer
(B) The addition of new (B) scied Red # 93 AReERi @l
structures in the database
system Gﬁw
(C) Manipulation & processing of (C) ST I B 3N TR
the database
(D) Definition of a physical (D) et Rived @1 Aifdd wweT @l
structure of the database et
system
20. In the architecture of a data base 20. TH STy RIved & afdheder # STl
system external level is the: TR BT T
(A) Physical level (A) IRIRD ®R
(B) Logical level (B) dIfbd &R
(C) Conceptual level (©) FRP wR
(D) View level (D) WR
Series-A B.Sc. - B120201T / K-260 Page - 7



21. In an E-R diagram attributes are  21. Ud 3—qR qRG H fIowamen @
represented by: yfaffera foar S &
(A) Rectangle (A) 3mgd
(B) Square (B) T
(D) Triangle (D) Xpror
22. In case of entity integrity, the 22. S@I5 J@sdl & A H, WRIHED FHoll
primary key may be: RISENIES
(A) Not null (A) [T Tel
(B) Null (B) T
(D) Any value (D) P 7
23. In an E-R diagram an entity setis  23. T® 3—3R ING H TP 355 IS @l a
represented by a: SR <917 T ©
(A) Rectangle (A) 3mgd
(B) Ellipse (B) 3i€MdR
(C) Diamond box (C) BRI g
(D) Circle (D) B
24.  An advantage of the database 24. STW U§EH ‘rﬁ?ﬁw BT TP o @ :
management approach is: _
s _pp (A) 1 BRHA W R 2
(A) Data is dependent on
programs (B) Sl REsHl 98 ol &
(B) Data redundancy increases :
o (C) ST Udlpd & 3R B3 SRUBAI
(C) Data is integrated and can be
accessed by  multiple gRT Ugal o |l ©
rograms : :
PO (D) S & A 3 T
(D) None of the above
Series-A B.Sc. - B120201T / K-260 Page - 8



25. Relational Algebra is: 25.  GagWRe ORI &
(A) Data definition Language (A) ST UR¥IT 79T
(B) Meta Language (B) #eI W
(C) Procedural Query Language (C) PRI LG IL]
(D) None of the above (D) SWIE H ¥ Pls Tl
26. Key to represent the relationship  26. dIfl@Rll & d/9 WS &I TN dlell
between tables is called: Bl BEA o
(A) Primary key (A) TrIfEd Holl
(B) Secondary key (B) #Egfid ol
(C) Foreign key (C) fac=h afrﬁ
(D) None of these (D) o 9 DI TE
27.  DBMS helps achieve: 27. SIAITATH. NI AR H AGS IRl @
(A) Data independence (A) ST WA
(B) Centralised control of data (B) s &I zﬁ‘;ﬂw BRELI
(C) Neither (A) and (B) (C) I (A) T (B)
(D) Both (A) and (B) (D) THI (A)3IR (B)
28.  Which of the following are the 28. Ti=ifelRad ¥ & dH A WA & 0T
properties of entities? g7
(A) Groups (A) 9z
(B) Table (B) diferdr
(C) Attributes (C) T
(D) Switchboards (D) Ragars
Series-A B.Sc. —B120201T / K-260 Page -9



29.  Which of the following is correct: 29. 9 89 o A1 W
(A) A SQL query automatically (A) TP THIT. TR ATord wy
eliminates duplicates J w @l geT o &
(B) SQL permits attribute names (B) THRTA Th 8 G § R
to be repeated in the same _
relation B e 3@:@ €
(C) a SQL query will not work if (©) 3 Hel R PR 3 T
there are no indexes on the g O Sel. 7 BT
relations Gl
(D) None of these (D) T ¥ B3 T
30. The RDBMS terminology for a  30. TU® Ufdd & folv RDBMS I&Tdcl &
TOW 1S: (A) T
(A) Tuple B) W
(B) Relation
(C) Attribute © faRreT
(D) Degree (D) feilt
31.  Which database level is closest to  31. ®F W Scdd wWR SYINHART &
the users? T BN 27
(A) External (A) =Y
(B) Internal (B) 3raR®
(C) Physical (C) R}
(D) Conceptual (D) FR®
32.  Which of the following is a 32. fy=foRed & 9 &F SQL 4 ® SRl
comparison operator in SQL? 3TN &7
(A) = (A) =
(B) LIKE (B) LIKE
(C) BETWEEN © @4
(D) All of the above D) SR T
Series-A B.Sc. - B120201T / K-260 Page - 10



33, Which of the following is another ~ 33. 1 # ¥ &M FHGR 3BE B TN
name for the week entity? TH 27
(A) Child (A) 9=l
(B) Owner (B) Hifeld
(C) Dominant (C) W4T drefl
(D) All of the above (D) SWIa I
34, Null is: 34, Null &
(A) The same as 0 for integer (A) TO@ & folg 0 & 99
(B) The same as blank for B) R 3 R Reg & wH
character _
(C) e & fow 0 & §9F &R quf
(C) The same as 0 for integer and
& fory Rad
blank for character
(D) T eI el
(D) Not a value S
35. A data dictionary is a special file  35. <o @M e 99 BEd & Rorw
that contains:
AT B
(A) The name of all fields in all
(A) T4 BISAl H O &3 BT A
files
(B) The width of all fields in all (B) &I Bigell # Y & of A
files (C) I wizadl § W &Al B <er
C) The dat f all fields in
(©) e data type o
all files
(D) SWIa I
(D) All of the above
Series-A B.Sc. - B120201T / K-260 Page - 11



36. A primary key is combined witha ~ 36. U® UIA® Elg_\rﬁ B U6 ol Elg_\rﬁ C2
foreign key creates: Y SIrel ST &
(A) Parent-Child relationship A) T T T iRt @ 9
between the tables that N
connect them FIGTUeT—aTet ¥t
(B) Many to many relationships (B) diferdral @ 1 g ¥ Py e
between the tables that T S red &
connect them (©) qifereret & 99 Scad Aed ol
(C) Network model between the o= Fe @
tables that connect them '
(D) None of the above (D) SR # | Pl Tl
37. In E-r Diagram derived attribute is ~ 37. $-3IR NG H G~ faeryar @
represented by: yfaffeea gnr fhar oirar &
(A) Ellipse (A) ISR
(B) Dashed ellipse (B) SIS 3CHR
(C) Rectangle (C) Imd
(D) Triangle (D) Xpror
38. In E-R Diagram relationship type 38. 3R NG H G YPR B fHdAd
is represented by: ST SITAT AT 87
(A) Ellipse (A) ISR
(B) Dashed ellipse (B) IS ISR
(C) Rectangle (C) Imd
(D) Diamond (D) B
39. To delete a particular column ina  39. G ¥ foel fO99 @fcH @ g<H &
relation the command used is: foTT SN foham S aTel FHTS &
(A) UPDATE (A) 37
(B) DROP (B) s
(C) ALTER (©) dofeua
(D) DELETE (D) e
Series-A B.Sc. —B120201T / K-260 Page - 12



40. A logical schema: 40. U dqMfdd I
(A) Is the entire database (A) WQUT e B
(B) Is a standard ~ way (B) @M & T g ey #
oforganizing information into AGRT B Bl Th AIh ARIHT
an accessible part 2
(C) Describe how data is actually ©) o T 5 v W ST a7aq §
stored on disk &9 AT frar o 2
(D) None of these D) o W T
41. In the E-Rdiagram generalization  41. $—3/R NG H THFRAGROT gRT 90
is represented by: T 2
(A) Ellipse (A) ISR
(B) Dashed ellipse (B) IIE IEHR
(C) Rectangle (C) 3
(D) Triangle (D) BT
42. Cartesian product in relational  42. HIIRE dISHIRT § B UG RN &
algebra is: (A) T W IR
(A) A Unary operator B) T T STvey
(B) A Binary operator .
(C) A Ternary operator © @ T e
(D) Not defined (D) TR T
43. In a relational model, relations are ~ 43. Ud UdIWRe Hed H Gael & Pal
termed as: STl &
(A) Tuples (A) U™
(B) Attributes (B) T
(C) Tables (©) oo
(D) Rows (D) gfyaat
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44, In tuple relational calculus 44. TUA Rel¥Fd EI%FIW 4 P1®P2
P1 ® P2 is equivalent to: W &
(A) =P10P2 (A) —P10P2
(B) P10P2 (B) P10P2
(C) P1UP2 (C) P10P2
(D) P1U-P2 (D) P1U—P2
45. Related fields in a database are 45, TG ¥ geEd el @l U EEIEY
grouped to form a: foru H*j\sﬂlc#gd CRIRSInIS
(A) Data file (A) T WIgd
(B) Data record (B) eI Rafs
(C) Menu (C) ]
(D) Bank (D) &
46. The database environment has all ~ 46. Sce¥ dAIaRY # AR wff gea
of the following components 2id & Ryar:
except: (A) RUDIRIIE
(A) Users (B) & weet
B) Separate files
ECi Dalzabase © S
(D) Database administrator (D) S FD
47. The way a particular application 47. 9 @™g ¥ @5 Ry tfaay sS4
views the data from the database ST ¥ ST @I <@l & off W‘cﬁ?ﬁ
that the application uses is a: IYIRT HA] € 98 T a:
(A) Module (A) ﬁl@ﬁﬁ
(B) Relational model (B) TR Hed
(C) Schema (C) W
(D) Subschema D) ST
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48. An

advantage of the database

management approach is:

(A)

(B)
©

(D)

Data is dependent on
programs

Data redundancy increases
Data is integrated and can be
accessed by

None of the above

49.  Data independence means:

(A)

(B)

©

(D)

Data is defined separately
and not included in programs
Programs are not dependent
on the physical attributes of
data

Programs are not dependent
on the logical attributes of
data

Both (B) and (C)

50.  The primary key must be:

(A)

Unique

(B) Not null

©
(D)

Both (A) and (B)

Either (A) or (B)

48.

49.

50.

SCIIY JEE gReeIv BT U o &

(A) 1 BRHA W R 2

(B) <1 Re<Hl 3¢ Il @

(C) T Udlghd & 3R & BRIHA!
gRT UgaT o 9ahdl &

(D) SR & F PIg T8I

ST WA o I @

(A) eI 3 ¥ uRwifia fhar 8
3R priE ¥ e R

(B) UM sl @ Hifad faRiamsei w®
frR 78 3

(C) U &1 & aifdd faRiyamen w
frR 78 &

(D) <HF (BRIR (C)

I Holl BT AR

(A) Unique

(B) I el

(©) (A) 3R (ByaHT

(D) Tl (A (B)

Series-A
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51.  Delete from r where P; 51. r ¥ g & P;
The above command IRIGT 3
(A) Deletes a particular tuple (A) G A e R v @1 gerr
from the relation »
(B) NdY gera §
(B) Deletes the relation N _
(C) W& | & yfafcdl &1 9%
(C) Clears all entries from the
. ERGIRS
relation
(D) All of the mentioned (D) ¥ Sfectf
52.  Update instructor 52. oA URE®
salary = salary * 1.05; qq = 90 * 1.05;
Fill in with correct keyword to SqeX ReleM @1 ause o @ folu
update the instructor-relation. el Plas |
(A) Where (A) gl
(B) Set (B) Wc
(€) In (C)
(D) Select (D) —%ﬁ
53. A consists of sequence 53. A L o I R R D
of query and/or update statements. weHe Bl Tdh HH &Il ¢ |
(A) Transaction (A) oFed
(B) Commit (B) Wfieg
(C) Rollback (C) Iidd
(D) Flashback (D) Weleldd
Series-A B.Sc. —B120201T / K-260 Page - 16



54. In case of any shut down during 54.  Yfidg 8 W TS oivad @ SR el
transaction before commit which A 9 69 @ 9 § FRefofRag § 9
of the following statement is done B G $UF WArd w9 9 fhar Sirdr
automatically? 27
(A) View (A) 3
(B) Commit (B) RNE
(C) Rollback ©) G
(D) Flashback (D) T

55. In order to maintain the 55.  oed & SRM fANeRan CHIN W B
consistency during transactions o S99 YeH AT &
database provides: (A) TREE
(A) Commit
(B) Atomic ) T
(C) Flashback © R
(D) Retain (D) I ¥

56. A transaction completes its 56. U@ oF-od U Mwed @ IRT ol
execution is said to be: 2, hel odl &

(A) Committed (A) vldeg
(B) Aborted (B) =
(C) Rolled back (C) o194 e Tl
(D) Failed (D) fwa

57. will undo all statements up 57.  Yfdg & o v wff e @ q\_ci_clﬁ
to commit? PR TP
(A) Transaction (A) ST
(B) Flashback (B) .

(C) Rollback
(D) Abort (©) m
(D) Abort
Series-A B.Sc. - B120201T / K-260 Page - 17



58. Ranking of queries is done by 58.  ywl @ T T F 9§ e gRr @
which of the following? NInIE
(A) Group by (A) T g
(B) Order by (B) gX1 QIeH)|
(C) Having (©) 2N
(D) Both (A) and (B) (D) (ARIR (B)3Hf
59.  What do data warehouses support? 59. STl JIRERY 7T IR IR ©?
(A) OLAP (A) MTATY
(B) OLTP (B) My
(C) OLAP and OLTP (C) 3NTATU. 3R MTAIW,
(D) Operational databases (D) URdTe ScIed
60. OLAP stands for: 60. OLAP &I Addd &
(A) Online analytical processing (A) 3Tl fATeISUTHG JRIRHROT
(B) Online analysis processing (B) 3ifTelg favelsor RivamoT
(C) Online transaction processing (C) SIS oI e THwhNU]
(D) Online aggregate processing (D) SAITeTET Gl THEHRYT
6. An ___ is a set of entities of 61. UH Ud &l UOR &I ARARN I U T
the same type thatshare the same g ol 9o ot a1 fQIyaTd Arem axd
properties, or attributes. 2|
(A) Entity set (A) 3BE M
(B) Attribute set (B) ICELGIR
(C) Relation set (C) ¥y Je
(D) Entity model (D) TPrE Al
Series-A B.Sc. - B120201T / K-260 Page - 18



62.  Entity is a: 62. 3T &
(A) Object of relation (A) &g Bl ]
(B) Present working model (B) IH BHBIST AT
(C) Thing in real world (C) IRafd® g H 9
(D) Model of relation (D) g o1 Hied
63. A functional dependency is a  63. U® GRS (TRa @ d9 I & 4=
relationship between or among: U e &
(A) Entities (A) WU
(B) Rows (B) dfaal
(C) Attributes (©) U
(D) Tables (D) <dcd
64. Which functional dependency 64. fy=foRad frRaRl ¥ oF ¥ FRTHS
types is/are not present in the S T HﬁTrj\‘c{ § /a8
following dependencies?
Empno -> EName CLEl Deptno,
Empno ->EName, Salary, Deptno,
DName DName
Dept No -> DName forrT Her > T
Emp No -> DName Emp No -> DName
(A) Full functional dependency (A) Tﬁ Frfers fnfRkar
(B) Partial functional dependency _
(B) NiR¥% e fFnfRar
(C) Transitive functional
dependency (C) THHG foparerd R
(D) Both (B) and (C) (D) (B)3IR (C)a
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65. If one attribute is determinant of  65. 3IC Th GEING] ?ﬁ &1 FuRe & o
second, which in turn is gl § ORN BT uRe g ol Heg Tl
determinant of third, them the 21 G
relation cannot be: (A) Bl e A el
(A) Well-structured
(B) INF (B) 1 T1.Uw.

(C) 2NF (C) 2 TAUS.
(D) 3NF (D) 3 TA.U%.

66.  Consider the schema R(S,T,U,V)  66. TbMI 3R (W4, <, g, 1) IR FHRar
and the dependencies S —» T, T — W_)‘Cp[lé}'[_)z& ?1—>a°f,?ﬁ—>ww
UU=VV=Ss. AR W) T R =(RI,R2)% 2
Let R ={R1,R2} such that RINR2 RINR2 =0 9 3TEe &
=®. Then the decomposition is: o
(A) Notin 2NF (A) 2NF AL
(B) In 2NF but not in 3NF (B) 2NF # <l 3NF # el
(C) In 3NF but not in 2NF (C) 3NF # offtd 2NF # 78
(D) In both 2NF and 3NF (D) 2NF 3R 3NF <M #

67. A relation is in 2NF if: 67. U& WY 2NF # & I
(A) All the values of non-key (A) ﬁ—\;_qﬁ foRryamell @ ot ou o

attributes are dependent fully T ¥ IR Elg_\rﬁ w fpf ¥
on the candidate key ®B) o N fead Rev @
(B) Any non-key attribute that >
are dependent on only part of SHIGIR ElgTyﬂ H PI TR
the candidate key should be R & 9 ?ﬁﬁ G H o
moved to another relation ST @Ry SRl SR ?g_\rﬁ
where the partial key is the GIEGIREY 110]‘ ol 2
actual full key C) T yger ¥ & INF ¥ 8 =ifRu
(C) It must be already in the INF D) EENE—
(D) All of the above
Series-A B.Sc. - B120201T / K-260 Page - 20



68.  Third normal form is based on the  68. TR NI ®Y @ 3TGERVT
concept of TR ATEMRT B |
(A) Closure Dependency (A) ¥ TR
(B) Transitive Dependency (B) FHHEG iR
(C) Normal Dependency (C) 9™y TR
(D) Functional Dependency (D) PIIHD TR
69. Prevention of access to the 69. 3 €§ﬂ SYARTGARI §RT Scev ad
database by unauthorized users is qg'q a‘)}'[ J[hTH Eﬁ dgl ATl %;
referred to as: (A) Irded
A) Integrit
(B) Productivity
: (©) g
(C) Security
s (D) fdegeirgd
(D) Reliability
70.  4NF is designed to cope with: 70. 4ANF® 399 fued @ fou feomes
(A) Transitive dependency fovar &
(B) Join dependency (A) ™ <
B) fwRar 4 wnfidt @i
(C) Multi valued dependency (B)
(©) Teaa fRd
(D) None of these i _ _
(D) T ¥ BIg el
71.  Every Boyee-Codd normal form is 71, UAP Boyee-Codd dMHTI 4 q e
in: (A) UET WA WY
(A) First normal form (B) NI WM %5
(B) Second normal form © B S
(C) Third normal form
(D) oW &
(D) All of the above
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72. A table is in BCNF if it is in 3NF 72, U& diforal SINgaw. # 2 afe a8 3

and if every determinant is a TIU%. § & AR A we ke @
key. gl g

(A) Dependent (A) o
(B) Normal (B)
(C) Candidate (C) SR _
(D) Both Normal and Candidate (D) HHr IR G

73.  Every constraint on the table is a  73.  Table W YD I dlfeldl &I dlfdhd
logical consequence of the table’s: g &
(A) Fourth normal from (A) IR R
(B) Fifth normal from (B) UEdl GHNI WY
(C) Domain/key normal from (C) SMT/ ol MR WU
(D) None of the Mentioned (D) SeellRad H | DG el

74. In a given relationship R, if an  74. f&d1 QU 7v Gewr R, Il v faiwan
attribute A uniquely defines all A T faomare @ fafie wU 9
other attributes, then the attribut A R el &, ar fagear A Udh T9
is a key attribute which is also faoryar & o9 i @ Wy H A
known as the key. ST ST 2
(A) Candidate (A) SHIEIR
(B) Join (B) mfiat &
(C) Functional (C) FRITHS
(D) None of the Mentioned (D) ScllRad § 9 $lg el
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75.  Anomalies are avoided by splitting ~ 75.  3TufoMe  GaEl @ by wed H
the offending relation into multiple foiford eve fodufaal | 9= ofar @
relations, 1s also known as: 3@[ & %y A A S oy &

(A) Accupressure

(B) Decomposition E:; ﬁ

(C) Precomposition

(D) Both Decomposition and © TCT XA
Precomposition (D) SrEe IR TCT Xl &

76.  Every time attribute A appears, it 76. & X fd99d A Udc BN ©, Tg
is matched with the same value of fRlydar B & WM 99 9 Nd @ g
attributeB, but not the same value S B C @ wwE A @
of attribute C. Therefore, it is true
that: IO, FE WCA & o
(A) A->B (A) A>B
(B) A->C B) A->C
() A->(B,0) () A->(B,0)

D) B,O)->A D) B,O)->A

77.  Which of the following is not a  77. {49 # 9 & w1 AIfeidl & eI 89 &
restriction for a table to be a fory uftree =&t &7
relation? (A) R & T @ & A e
(A) The cells of the table must

contain a single value ey
(B) All of the entries in any (B) fait +ff rer A T wfaftear e
column must be of the same 2 UBR B B! IRy
kind (C) Ble™ BT 3Mey foar ST =1y
(C) The columns must be ordered (D) R e N < dfad
(D) No two rows in a table may _
be identical RGACER
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78.  How can a SQL developer add a 78.  SQL STIR fhdl 29 W U @rﬁ

key on a table? DY SIS ghdl 87

(A) While creating a table (A) 39 T G

(B) With Alter table command (B) sifeeR eval BHiS & W

©) W.1th SQL server Properties ©) SOL s o B B T
window

(D) All of the Mentioned (D) W S

79. A key is a minimal super  79. Ud cg'\ﬂ‘\l Udh IIdq g

key. Bl g

(A) Primary (A) TIES

(B) Foreign (B) faceh

(C) Candidate (C) SHEaR

(D) Non-Prime (D) R gy

80. Which of the following is not a  80. {491 # & SQL # Key &l &?

key in SQL? (A) TS

(A) Primary (B) froehy

(B) Foreign ©) Sl

(C) Alternate D) e

(D) Secondary

81. What is true about Unique and  81. Unique 3R Primary key o IR H @

primary key? TG 2?

(A) Unique can have multiple (A) ¥ o5 NULL #9 @
NULL values but primary B ¥ ofeT yle § T
can’t have SN

(B) Unique can have single _

NULL value but Primary (B) qﬁ—cﬁ 1 Rl NULL ﬁ?l l
can’t have even single FO & cifert areRd # R

(C) Both can have duplicate TEl & Al &
values (C) T H Sictde A9 B Aad &

(D) None of the Mentioned (D) ScilRad § 9 $lg el
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82.  Which key accepts multiple NULL
values?
(A) Foreign key
(B) Unique key
(C) Primary key
(D) None of the Mentioned

83.  Which of the following statements

is not correct?

(A) The primary key must be
unique for a given table

(B) Specifying a zero (0) for the
lower bound for  the
association multiplicity on a
class diagram indicates that
the item is required

(C) Specifying a one (1) for the
lower bound for  the
association multiplicity on a
class diagram indicates that
the item is required

(D) Most databases allow
multiple records that are

identical

82.

83.

®F A ol THUG NULL HF

WHR HRAT 87

(A) facel gof

(B) Hfecira i

(C) e gl

(D) Scaifgd # 9 I3 el

frefoed & 9 @9 1 oM W& TR

27

(A) @ TE qferdr & forg wrIfis goll
fgera gl =fen

(B) T T NG W TEIRGE
qgadl & forg el W o fog
I (0) i @ 3fa awar @
f& 3geq @ TIvIhdT 2

(C) T& 1 ING W TARWIH
age & Ry Frad @ & for
U% (1) Ffde oxer 3fa oRar §
f& 3geq & TIIhdT 2

(D) IR <CIed Th oM By Rabie
@1 AT I T
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84.  The relational model feature is that ~ 84.  HITRG Hiedl favar I8 & f& agr
there: .
_ (A) WRIfd  goll ST B B
(A) Is no need for primary key
data AMaeAGA Tal §
B) 1s much more data . .
®) (B) B 3 ST HiSd &I Joil H
independence than some
other database models dgd 3 % STl Waadl ©
(C) Are explicit relationships © f SE
among records
(D) Are tables with many (D) 3 TAMI dTell <qdl @
dimensions
85.  Identify the criteria for designing 85. SN b ?gfﬁeaﬁw 3 STed feoie
database from the point of view of P P HFCS DI U DY
user: (A) BTS ARG el
(A) No redundancy :
(B) P SRITgT T el
(B) No inapplicable attributes _ _
o _ (C) ST #al & THERT AR GRHATITRI
(C) Uniformity in naming &
4 Y
definitions of the data items
(D) All of the Mentioned (D) T Sl
86. A table that displays data 86. U dlfeidl Sl Sel aftRe eRid ol
redundancies yields 2, fagerfoal S~ el 2 |
anomalies. (A) ST
A) Update
() Up (B) wffer
(B) Insertion
_ (C) ®&cH
(C) Deletion
. (D) 41 JcetlRad
(D) All of the Mentioned
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87. commands in SQL allow 87. SQLH  ®AS Scod & MR
controlling access to data within Sfafied Ugd @I FRIT = @ 31‘3”41%
database. @

(A) Database (A) STd

(B) Data (B) eI

(C) Data control (C) eI fa
(D) All of the Mentioned (D) I JooilRad

88. To obtain the structure of an  88. Oracle TIfcIdl B WA UG HA &
Oracle table, the command to use o ST e & forv duie &
is: (A) G [Tt BT ]

(A) STRUCTURE [Table Name] ®) v T o
(B) DESCRIBE [Table Name]
(C) WG @ qUHF N [qlfeldl &
(C) DESCRIBE STRUCTURE
[Table Name] T
(D) DESC TABLE [Table Name] (D) fGaReT e [eferet ]

89. A collection of data designed to be 89.  fafd=1 <t FIR ST fou W B fou
used by different people is called fSTmes fdu U ST & WU @ a/an
a/an: e Il &

(A) Organization (A) oA
(B) Database (B) Sced
(C) Relationship (C) qdyg
(D) Schema (D) THHT
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90. Which of the following is the  90. [HfiRad ¥ ¥ BN T RMAT ST
oldest database model? Afed g7
(A) Relational (A) HITRSD
(B) Deductive (B) [RrIcH®
(C) Physical (C) Wifa®
(D) Network (D) "cdd
91. In which of the following formats  91. Scl§d A-viiic Red # ST & e ¥
data i1s stored in the database I g wie § R fHar o 22
management system? (A) R
(A) Image (B) T
(B) Text
(C) diferet
(C) Table
(D) 9%
(D) Graph
92.  Which of the following is the best 92. fo=foRad & 9 @M T E!@ S °
way to represent the attributes in a faoryamen @1 ufafAfc & &1 99q
large db? 3T NI &7
(A) Dot representation (A) Sl yldFEe
(B) Concatenation (B) IS
(C) Relational-and (©) TIITIRH—3IN
(D) All of the mentioned (D) T RIIECR]
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93.  Which of the following key is  93. eI W UFHh®H @F &9 W ST @
required in to handle the data when e & forw 9 # @ aF @ @ﬁ
the encryption is applied to the # aawed B & afe SFH%W
data so that the unauthorised user ; S —— . q§ﬂ _—
cannot access the data? _

(A) Primary key (A) S Elg_\rﬁ
(B) Authorised key (B) W ElgTyﬂ
(C) Encryption key (C) P ag_vﬁ
(D) Decryption key (D) fefsbeer ?Q_"ﬁ

94. Data warehouse architecture is 94, ST TRERH 3MbcdR TR MR @
based on: (A) SATATE
() DBMS (B) JRSLIUATH.

(B) RDBMS
(© SQL (© Ts
(D) ORACLE (D) dR®

95.  Which one of the following given ~ 95. f=ifelRad # ¥ &9 weM H Hwaa: Ffe
statements possibly contains the 27
error? (A) empid¥ * ¥ WE empid =
(A) Select * from emp where 10003:

empid = 10003; (B) empid ¥ T BT T N o
(B) Select empid from emp
empid = 10006;
where empid = 10006; _
(C) empid¥ empid®l TI9 T
(C) Select empid from emp; o
(D) Select empid where empid = (D) empid T = Y oref empid =
1009 and Lastname = 1009 3R Sff W =
‘GELLER’; ‘GELLER’;
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96.  Which of the following can be  96. Tl JIRERA ¥ Sl AR THHN Bl

used to extract or filter the data & T a7 fhoey B & fou R A4 9
information  form the data RreT ST fraT o et &7
warehouse?

(A) MR ARl 3rfova
(A) Data redundancy

(B) eI Rpadl ¢
(B) Data recovery tool

(C) eI ArgfT

(C) Data mining
(D) Both (B) and (C) (D) (B) 3R (C) qMI

97. The attribute AGE 1is calculated 97. faumar AGE Gl 0T

from DATE_OF BIRTH. The DATE OF BIRTH® @ il 2|
attribute AGE 1is : fa9yaT AGER:
(A) Single valued (A) Udhel Jegdid
(B) Multi valued (B) <8 Hegd™
(C) Composite (©) [° U
(D) Derived (D) O™
98.  Drop Table cannot be used to drop 98. MY <A BT ST qreT gkl
a table referenced by a Hefiq diferer @ Bled @ fouw T8
constraint. forar ST | 2|
(A) Local key (A) WHY Eg_\rﬁ
(B) Primary key (B) 9rIfch ol
(C) Composite key (C) 95T doll
(D) Foreign key (D) facel gl
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99.  Which of the following gives a 99. fy=fofed & & oF uwfhes wu
logical structure of the database TG &) difbd G=HT <dT 27
i 9 ¢
graphically’ (A) SPE—NSE NG
(A) Entity-relationship diagram
(B) I3 NG
(B) Entity diagram
(C) TN ARG
(C) Database diagram
_ _ (D) eI Ul
(D) Architectural representation
100. If you were collecting and storing 100. I M9 3uq TG WU & IR A
information about your music MR Thd 3R GUSd &~ & 9, d
collection, an album would be U TeaH Pl (n) AT STQT |
considered a(n) iy
(A) 989
(A) Relation
(B) IO
(B) Entity
(C) SamEw
(C) Instance
(D) Attribute (D)
Xhkdkhx
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pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.
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ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
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There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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